etrax208:FlowCtrl_set_get

calcout

DESC=get 8 FlowCtrl_set: IOC etra
DTYP=stream
FLNK=etrax208:FlowCtrl_set_fo
OUT=@hadcon_CAN.proto get8_CA

FLNK > PP NMS

g

VAL ®)

fanout
etrax208:FlowCtrl_set_fo

SELM=Mask

SELN=7
LNK1=etrax208:FlowCtrl_set_raw1l
LNK2=etrax208:FlowCtrl_set_raw2
LNK3=etrax208:FlowCtrl_set_raw3
LNK4=etrax208:FlowCtrl_set_raw
SCAN=1 second

ai
etrax208:FlowCtrl_set_1

DESC=adc: Byte 1

g VAL 0—

ai
etrax208:FlowCtrl_set_2

DESC=adc: Byte 2

LNK1 > PP NMS
LNK2 > PP NMS
LNK3 > PP NMS
LNK4

g VAL o

ai

etrax208:FlowCtrl_set:errorNr

DESC=errorNr-get8 FlowCtrl_set:et

ai
etrax208:FlowCtrl_set_3

DESC=adc: Byte 3

g VAL 0—

stringin

etrax208:FlowCtrl_set:error

DESC-=error-get8 FlowCtrl_set:etra

ai
etrax208:FlowCtrl_set_4

DESC=adc: Byte 4

g VAL o

ai
etrax208:FlowCtrl_set 5

DESC=adc: Byte 5

g VAL 0—

ai
etrax208:FlowCtrl_set_6

DESC=adc: Byte 6

g VAL D

SCAN=Passive
INPA=etrax208:FlowCtrl_set_5 NPP
INPB=etrax208:FlowCtrl_set_6 NPP

LINR=LINEAR CALC=A*B+C
INPC=etrax208:FlowCtrl_set_get NP EGU=Volt c INPA=HAD:RPC:GAS:C4H10_set_v
FLNK=HAD:RPC:GAS:C4H10_set_ HOPR=8 INPB=4
NPP MSZ] INPA LOPR=0 INPC=0
EOFF=0 EGU=cc/min
NPP MS2] INPB ESLO=0.002 HOPR=20
FLNK > PP NMS FLNK=HAD:RPC:GAS:C4H10_set LOPR=0
NPP MS2] INPC FLNK > PP NMS INPC
© VAL O ————NPP MSY] INP INPB
@ VAL O NPP MS2] INPA

calc
etrax208:FlowCtrl_set_rawl ai
DESC=combining 2 bytes into 16bit HAD:RPC:GAS:R134a_set_volt calc
Q SALCASOFR)<<E) + (B0FF) DTYP=Raw Soft Channel HAD:RPC:GAS:R134a_set
SCAN=Passive DESC=adc value: R134a_set
INPA=etrax208:FlowCtrl_set_1 NPP INP=etrax208:FlowCtrl_set_rawl NP DESC=Flow Freon R134a
INPB=etrax208:FlowCtrl_set_2 NPP C LINR=LINEAR CALC=A*B +C
INPC=etrax208:FlowCtrl_set_get NP EGU=Volt O INPA=HAD:RPC:GAS:R134a_set v
FLNK=HAD:RPC:GAS:R134a_set_ HOPR=8 INPB=40
NPP MS2] INPA LOPR=0 INPC=0
EOFF=0 EGU=cc/min
NPP MS2 ] INPB ESLO=0.002 HOPR=200
FLNK > PP NMS FLNK=HAD:RPC:GAS:R134a_set LOPR=0
NPP MSZ] INPC FLNK > PP NMS INPC
® VAL O ————NPP MSZ] INP INPB
g VAL @) NPP MS2] INPA
calc
etrax208:FlowCtrl_set_raw2 ai
- ) ) HAD:RPC:GAS:SF6_set_volt |
DESC=combining 2 bytes into 16bit calCc
Lo CALC:_(((A&F)XFF)<<8) + (B&OXFF)) DTYP=Raw Soft Channel HAD:RPC:GAS:SF6_set
SCAN=Passive DESC=adc value: SF6_set
INPA=etrax208:FlowCtrl_set_3 NPP INP=etrax208:FlowCtrl_set_raw2 NP DESC=Flow Hexafluoride SF6
INPB=etrax208:FlowCtrl_set_4 NPP C LINR=LINEAR CALC=A*B +C
INPC=etrax208:FlowCtrl_set_get NP EGU=Volt INPA=HAD:RPC:GAS:SF6_set_volt
FLNK=HAD:RPC:GAS:SF6_set_volt HOPR=8 INPB=4
NPP MSZ] INPA LOPR=0 INPC=0
EOFF=0 EGU=cc/min
NPP MS2] INPB ESLO=0.002 HOPR=20
FLNK > PP NMS FLNK=HAD:RPC:GAS:SF6_set LOPR=0
NPP MS2] INPC FLNK > PP NMS INPC
QO VAL O ———— PP MS2] INP INPB
g VAL @) NPP MSZ] INPA
calc
etrax208:FlowCtrl_set_raw3 ai
DESC=combining 2 bytes into 16bit HAD:RPC:GAS:C4H10_set_vol calc
CALC=(((A&OXFF)<<8) + (B&OXFF))

DTYP=Raw Soft Channel
DESC=adc value: C4H10_set
INP=etrax208:FlowCtrl_set_raw3 NP

HAD:RPC:GAS:C4H10_set

DESC=Flow Isobutane C4H10
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